CONTRACT FOR PUBLIC WORK

COUNTY OF MONTEREY

STATE OF CALIFORNIA

PROJECT NO. 8622

	THIS AGREEMENT, made in triplicate by and between	n the COUNTY OF
MON	TEREY, a political subdivision of the State of California,	hereinafter called the "County,"
and _	Viking Construction Company, Inc.	, hereinafter called the
"Cont	ractor," WITNESSETH:	

(1)THE WORK

The Contractor shall do all the work and furnish all the materials, except such as are mentioned in any of the contract documents to be furnished by the County, necessary to construct and complete in a good, workmanlike and substantial manner and to the satisfaction of the County, the following public work:

CASTROVILLE BICYCLE/PEDESTRIAN PATH AND RAILROAD CROSSING PROJECT NO. 8622

Federal Aid Project No: RSTPLE-5944(111)

in accordance with this agreement and with all of the following additional contract documents which are incorporated into and made a part of this agreement:

- The Standard Specifications, dated May 2010, and the Standard Plans, dated May (a) 2010, including issued revision through October 17, 2014, of the State of California, Department of Transportation.
- A set of plans and cross sections (when applicable) entitled: (b)

CASTROVILLE BICYCLE/PEDESTRIAN PATH AND RAILROAD CROSSING PROJECT NO. 8622 Federal Aid Project No: RSTPLE-5944(111)

- The Special Provisions for the work (c)
- (d) The Notice to Bidders calling for bids
- The Payment and Performance bonds require (e)
- Certificate of Insurance (f)

- (g) Form FHWA-1273
- (h) The accepted bid/proposal including the following:
 - (1) List of Subcontractors
 - (2) Equal Employment Opportunity Certification
 - (3) Public Contract Code

Section 10285.1 Statement

Section 10162 Questionnaire

Section 10232 Statement

- (4) Non-collusion Declaration
- (5) Debarment and Suspension Certification
- (6) Non-Lobbying Certification For Federal-Aid Contracts
- (7) Disclosure of Lobbying Activities
- (8) Instructions For Completion of SF-LLL, Disclosure of Lobbying Activities
- (9) Statement Concerning Employment Of Undocumented Aliens
- (10) Contractor's Certificate As To Worker's Compensation
- (11) List of Satisfied Public Agencies
- (12) Exhibit 15-G Local Agency Bidder DBE Commitment (Construction Contracts)
- (13) Instructions-Exhibit 15-G Local Agency Bidder DBE Commitment (Construction Contracts)
- (14) Exhibit 15-H DBE Information-Good Faith Efforts
- (15) Bidder's Bond
- (16) Waiver for Payment Adjustment for Price Index Fluctuations

All contract documents are intended to cooperate, so that any work called for in one and not mentioned in another is to be executed the same as if mentioned in all. However, should there be any conflict between the terms of this instrument and the Contractor's bid or proposal, then this instrument shall control.

2. WORKERS' COMPENSATION

In accordance with the provisions of Section 3700 of the Labor Code, the Contractor and every Subcontractor will be required to secure the payment of compensation to his employees.

3. CONTRACT PRICE

The County shall pay the Contractor the following prices for the performance of this contract:

CASTROVILLE BICYCLE/PEDESTRIAN PATH AND RAILROAD CROSSING PROJECT NO. 8622 Federal Aid Project No: RSTPLE-5944(111)

CASTROVILLE BICYCLE/PEDESTRIAN PATH AND RAILROAD CROSSING

PROJECT NO. 8622

Federal Aid Project No: RSTPLE-5944(111)

Item No.	Item Code	<u>P-F</u>	Description	Unit	Quantity	Unit cost	Amount
1	050002A		RAILROAD TRAINING	LS	1	5,000.00	5,000.00
2	070030		LEAD COMPLIANCE PLAN	LS	1	1,500.00	1,500.00
3	080050		PROGRESS SCHEDULE (CRITICAL PATH METHOD)	LS	1	1,500.00	1,500.00
4	090100		TIME-RELATED OVERHEAD	WDAY	280	1,050.00	294,000.00
5	120090		CONSTRUCTION AREA SIGNS	LS	1	5,000.00	5,000.00
6	120100		TRAFFIC CONTROL SYSTEM	LS	1	8,000.00	8,000.00
7	130100		JOB SITE MANAGEMENT	LS	1	50,000.00	50,000.00
8	130300		PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	2,000.00	2,000.00
9	130310		RAIN EVENT ACTION PLAN	EA	10	500.00	5,000.00
10	130330		STORM WATER ANNUAL REPORT	EA	1	2,000.00	2,000.00
11	130620		TEMPORARY DRAINAGE INLET PROTECTION	EA	10	450.00	4,500.00
12	130710		TEMPORARY CONSTRUCTION ENTRANCE	EA	2	6,000.00	12,000.00
13	130900		TEMPORARY CONCRETE WASHOUT	EA	2	3,750.00	7,500.00
14	141102		REMOVE YELLOW PAINTED PAVEMENT MARKING (HAZARDOUS WASTE)	SQFT	80	50.00	4,000.00
15	146001		CONTRACTOR SUPPLIED BIOLOGIST	LS	1	15,000.00	15,000.00
16	150606		REMOVE FENCE (TYPE BW)	LF	310	10.00	3,100.00
17	150608		REMOVE CHAIN LINK FENCE	LF	1,290	10.00	12,900.00
18	150771		REMOVE ASPHALT CONCRETE DIKE	LF	60	17.00	1,020.00

Item No.	Item Code	<u>P-F</u>	Description	Unit	Quantity	Unit cost	Amount
19	150812		REMOVE PIPE	LF	60	150.00	9,000.00
20	150821		REMOVE HEADWALL	EA	1	1,900.00	1,900.00
21	151281		SALVAGE ROADSIDE SIGN	EA	4	20.00	80.00
22	152320		RESET ROADSIDE SIGN	EA	6	120.00	720.00
23	151555A		RECONSTRUCT GATE	EA	2	6,000.00	12,000.00
24	152382A		RECONSTRUCT GATE POST	EA	2	1,250.00	2,500.00
25	152440		ADJUST MANHOLE TO GRADE	EA	1	2,550.00	2,550.00
26	<u>160102</u>		CLEARING AND GRUBBING	LS	1	37,000.00	37,000.00
27	170101		DEVELOP WATER SUPPLY	LS	1	11,000.00	11,000.00
28	190101		ROADWAY EXCAVATION	CY	2,090	75.00	156,750.00
29	192003	F	STRUCTURE EXCAVATION (BRIDGE)	СУ	509	100.00	50,900.00
30	193003	F	STRUCTURE BACKFILL (BRIDGE)	CY	292	50.00	14,600.00
31	198012A		BIORETENTION SOIL MEDIA (BSM)	CY	224	125.00	28,000.00
32	205034		DECOMPOSED GRANITE	SQFT	12,220	2.00	24,440.00
33	205036A		WEED CONTROL MAT (FIBER)	SQYD	270	27.00	7,290.00
34	210430		HYDROSEED	SQFT	13,910	0.38	5,285.80
35	260203		CLASS 2 AGGREGATE BASE	CY	690	90.00	62,100.00
36	390132		HOT MIX ASPHALT (TYPE A)	TON	1,140	115.00	131,100.00
37	394050	70	RUMBLE STRIP	LF	32	50.00	1,600.00
38	394073		PLACE HOT MIX ASPHALT DIKE (TYPE A)	LF	50	25.00	1,250.00
39	490616		84" CAST-IN-DRILLED-HOLE CONCRETE PILING	LF	562	1,500.00	843,000.00

Item No.	Item Code	<u>P-F</u>	Description	Unit	Quantity	Unit cost	Amount
40	495103	Р	FURNISH 16" CAST-IN-STEEL SHELL CONCRETE PILING	LF	3,224	80.00	257,920.00
41	495104		DRIVE 16" CAST-IN-STEEL SHELL CONCRETE PILE	EA	92	2,500.00	230,000.00
42	500001	Р	PRESTRESSING CAST-IN- PLACE CONCRETE	LS	1	88,000.00	88,000.00
43	510051	F	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	138	750.00	103,500.00
44	510053	F	STRUCTURAL CONCRETE, BRIDGE	CY	1,624	925.00	1,502,200.00
45	510501	F	MINOR CONCRETE	CY	18	875.00	15,750.00
46	510502	F	MINOR CONCRETE (MINOR STRUCTURE)	CY	1	3,050.00	3,050.00
47	518051	Р	PTFE SPHERICAL BEARING	EA	4	5,300.00	21,200.00
48	519092	Р	JOINT SEAL ASSEMBLY (MR 2 1/2")	LF	24	350.00	8,400.00
49	519097	Р	JOINT SEAL ASSEMBLY (MR 5")	LF	12	850.00	10,200.00
50	519099	Р	JOINT SEAL ASSEMBLY (MR 6")	LF	12	850.00	10,200.00
51	519101		JOINT SEAL (TYPE A)	LF	14	80.00	1,120.00
52	520101	P-F	BAR REINFORCING STEEL	LB	50	15.00	750.00
53	520102	P-F	BAR REINFORCING STEEL (BRIDGE)	LB	654,901	0.76	497,724.76
54	520120	P-F	HEADED BAR REINFORCEMENT	EA	68	52.00	3,536.00
55	560248		FURNISH SINGLE SHEET ALUMINUM SIGN (0.063"- UNFRAMED)	SQFT	200	18.00	3,600.00
56	566011		ROADSIDE SIGN - ONE POST	EA	35	280.00	9,800.00
57	641107	Р	18" PLASTIC PIPE (HDPE, TYPE C)	LF	150	156.00	23,400.00
58	650311	Р	18" REINFORCED CONCRETE PIPE (CLASS III)	LF	18	250.00	4,500.00

Item No.	Item Code	<u>P-F</u>	Description	Unit	Quantity	Unit cost	Amount
59	680902	Р	6" PERFORATED PLASTIC PIPE UNDERDRAIN	LF	310	36.00	11,160.00
60	680903	Р	6" NON-PERFORATED PLASTIC PIPE UNDERDRAIN	LF	170	42.00	7,140.00
61	<u>682042</u>		CLASS 2 PERMEABLE MATERIAL	CY	100	450.00	45,000.00
62	705011		18" STEEL FLARED END SECTION	EA	2	250.00	500.00
63	707107A		OVERFLOW DRAIN	EA	2	4,500.00	9,000.00
64	707118A		DRAINAGE INLET (TYPE G1)	EA	1	4,750.00	4,750.00
65	707119A		CONCRETE PIPE INLET (TYPE GCP)	EA	2	4,750.00	9,500.00
66	721028	F	ROCK SLOPE PROTECTION (NO.2, METHOD B)	CY	12	350.00	4,200.00
67	730070		DETECTABLE WARNING SURFACE	SQFT	160	54.00	8,640.00
68	731623		MINOR CONCRETE (CURB RAMP)	CY	3	2,400.00	7,200.00
69	733000		PRE/POST CONSTRUCTION SURVEYS	EA	2	1,000.00	2,000.00
70	750007	<u>P</u>	FRAME AND GRATE	EA	3	250.00	750.00
71	750041	P-F	ISOLATION CASING	LB	3,492	7.00	24,444.00
72	750498	P-F	MISCELLANEOUS METAL (RESTRAINER - CABLE TYPE)	LB	2,735	10.00	27,350.00
73	750501	P-F	MISCELLANEOUS METAL (BRIDGE)	LB	2,030	6.50	13,195.00
74	800002	Р	FENCE (TYPE BW, WOOD POST)	LF	750	15.00	11,250.00
75	800103		TEMPORARY FENCE (TYPE CL-6)	LF	2,790	10.00	27,900.00
76	800360	Р	CHAIN LINK FENCE (TYPE CL-6)	LF	1,220	17.00	20,740.00
77	833033	P-F	CHAIN LINK RAILING TYPE 7 (Mod)	LF	682	160.00	109,120.00

Item No.	Item Code	<u>P-F</u>	Description	Unit	Quantity	Unit cost	Amount
78	833040	P-F	BICYCLE RAILING	LF	2,248	340.00	764,320.00
79	840519		THERMOPLASTIC CROSSWALK & PAVEMENT MARKINGS	SQFT	830	5.00	4,150.00
80	840524A		4" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 9-3)	LF	3,870	1.50	5,805.00
81	860402	Р	LIGHTING (CITY STREET)	LS	1	25,000.00	25,000.00
82	860760A		LIGHTING (BRIDGE)	LS	1	58,000.00	58,000.00
83	860605A		RECTANGULAR RAPID FLASHING BEACON SYSTEM	LS	1	26,000.00	26,000.00
84	999990		MOBILIZATION	LS	1	650,000.00	650,000.00
	TOTAL BASE BID					6,509	,050.56

IN WITNESS WHEREOF, the parties hereto have executed this Agreement as of the dates appearing below their respective signatures.

CONTRACTOR.

CONT	MACION.	
Viking	(Name of Company)	C;
Ву: (Randy Jento Signature of Chair, President, or Vice-President	By: Signature of Secretary, Asst. Secretary, CFO, Treasurer or Asst. Treasurer*
Rav	Printed Name and Title	Burt Peterson, CF6 Printed Name and Title
Date:	9/21/14	Date: 9(21(16
	TY OF MONTEREY:	APPROVE AS TO FISCAL TERMS
By:		By:
Name:	Benny J. Young Interim Director of Public Works and	Name: Gary Giboney
Title:	Facilities / /	Title: Chief Deputy, Auditor-Controller
Dated:_	11/7/16	Date:
	APPROVE AS TO FORM	APPROVE AS TO INDEMNITY/ INSURANCE LANGUAGE
By:	Me DTV	By: COUNTY OF MONTEREY
Name:	Mary Grace Perry	Name: APRROVED AS TO INDEMNITY/ INSURANCE LANGUAGE
Title:	Deputy County Counsel	Title: Risk Manager
Datas	9-24-11	By: Dyden Scheemaka

*INSTRUCTIONS: If CONTRACTOR is a corporation, including limited liability and non-profit corporations, the full legal name of the corporation shall be set forth above together with the signatures of two specified officers. If CONTRACTOR is a partnership, the name of the partnership shall be set forth above together with the signature of a partner who has authority to execute this AGREEMENT on behalf of the partnership. If CONTRACTOR is contracting in an individual capacity, the individual shall set forth the name of the business, if any, and shall personally sign the AGREEMENT.

30-16

Bond No. 106529813 Premium: \$49,357.00

COUNTY OF MONTEREY

PERFORMANCE BOND

WHEREAS, the County of Monterey has awarded to Principal, <u>Viking Construction Company</u>, Inc. as Contractor, a contract for the following project:

CASTROVILLE BICYCLE/PEDESTRIAN PATH AND RAILROAD CROSSING PROJECT NO. 8622 Federal Aid Project No: RSTPLE-5944(111)

WHEREAS, Principal, as Contractor, is required to furnish a bond in connection with said contract, to secure the faithful performance of said contract.

	NOW, THEREFORE, we_	Viking Construction Company, Inc.	, as Principal,
and	Travelers Casualty and S	urety Company of America	
		as Sure	ety, are held and firmly
		rey, a political subdivision of the State m of Six Million Five Hundred Nine Thous	
		(a), for the payment of which sum in law	
State	es, well and truly to be made,	we bind ourselves, our heirs, executor	s, administrators,
succ	essors and assigns, jointly an	d severally, firmly by these presents.	

THE CONDITION OF THIS OBLIGATION IS SUCH THAT:

If the Principal, as Contractor, or Principal's heirs, executors, administrators, successors, or assigns, (1) shall in all things stand to and abide by and well and truly keep and perform the covenants, conditions, and agreements in said contract and any alteration thereof made as therein provided, on Principal's part to be kept and performed, at the time and in the manner therein specified and in all respects according to their true intent and meaning, and (2) shall defend, indemnify and save harmless the County, the members of its board of supervisors, and its officers, agents and employees as therein stipulated, then this obligation shall become null and void; otherwise, it shall be and remain in full force and virtue.

Surety hereby stipulates and agrees that no change, extension of time, alteration, or addition to the terms of the contract or the call for bids, or to the work to be performed thereunder, or the specifications accompanying the same, shall in any way affect its obligation under this bond, and it does hereby waive notice of any such change, extension of time, alteration or addition to the terms of said contract or the call for bids, or to the work, or to the specifications.

Whenever the Principal, as Contractor, is in default, and is declared in default, under the contract by the County of Monterey, the County of Monterey having performed its obligation under the contract, Surety may promptly remedy the default, or shall promptly:

- (1) Complete the contract in accordance with its terms or conditions, or
- (2) Obtain a bid or bids for submission to County of Monterey for completing the contract in accordance with its terms or conditions, and upon determination by County of Monterey and Surety of the lowest responsible and responsive bidder, arrange for a contract between such bidder and County of Monterey, and make available as work progresses (even though there should be a default or a succession of defaults under the contract or contracts of completion arranged under this paragraph) sufficient funds to pay the cost of completion less the balance of contract price.

If suit is brought upon this bond by the County and judgment is recovered, the Surety shall pay all litigation expenses incurred by the County in such suit, including attorney's fees, court costs, expert witness fees and investigation expenses.

IN WITNESS WHEREOF, the above- their several seals this 9th day of Se seal of each corporate party being hereto aff undersigned representative, pursuant to auth	
(Corporate Seal)	Viking Construction Company, Inc.
	Principal
	By Randy Jenco
	Name and Title Randy Jenco, President
(Corporate Seal)	
Salada Indicatora de Caraly	Travelers Casualty and Surety Company of America
	Surety
	By // Worf
	Name and Title M. Moody, Attorney-in-Fact

(Attach notary acknowledgement for all signatures and original or certified copy of unresolved appointment, attorney-in-fact certificate, power of attorney, by laws, or other instrument entitling or authorizing person executing bond on behalf of Surety to do so.)

A notary public or other officer completing this certificate verifies only the identity of the individual who signed the document to which this certificate is attached, and not the truthfulness, accuracy, or validity of that document.

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

Viking Construction Company, Inc.

State of California County of Sacramento On September 21, 2016, before me, Stacy Duong, Notary Public, personally appeared Randy J. Jenco, who proved to me on the basis of satisfactory evidence to be the person(s) whose name(s) is/are subscribed to the within instrument and acknowledged to me that he/she/they executed the same in his/her/their authorized capacity(ies), and that by his/her/their signature(s) on the instrument the person(s), or the entity upon behalf of which the person(s) acted, executed the instrument. I certify under PENALTY OF PERJURY under the laws of the State of California that the foregoing paragraph is true and correct. WITNESS my hand and official seal. STACY DUONG COMM. # 2161728 SACRAMENTO COUNTY (Seal) MY COMM. EXP. AUG. 28, 2020 OPTIONAL INFORMATION The information below is not required by law. However, it could prevent fraudulent attachment of this acknowledgment to an unauthorized document. CAPACITY CLAIMED BY SIGNER (PRINCIPAL) ☐ CORPORATE OFFICER: DESCRIPTION OF ATTACHED DOCUMENT PRESIDENT Performance Bond TITLE(S) TITLE OR TYPE OF DOCUMENT ☐ PARTNER(S) ☐ ATTORNEY-IN-FACT NUMBER OF PAGES ☐ TRUSTEE(S) ☐ GUARDIAN/CONSERVATOR DATE OF DOCUMENT OTHER: OTHER SIGNER IS REPRESENTING: NAME OF PERSON(S) OR ENTITY(IES) RIGHT THUMBPRINT Top of thumbprint OF

SIGNER (IF REQUIRED) S PART TO ATE

OFFICE A MARK

PROCESSARIA

TO SEE SALAR

T

.

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

CIVIL CODE § 1189

A notary public or other officer completing this certific document to which this certificate is attached, and not	cate verifies only the identity of the individual who signed the the truthfulness, accuracy, or validity of that document.
State of California County of San Francisco	
On September 9, 2016 before me, B	etty L. Tolentino, Notary Public
Date	Here Insert Name and Title of the Officer
personally appearedM. Moody	
	Name(s) of Signer(s)
subscribed to the within instrument and acknow	y evidence to be the person(s) whose name(s) is/are vledged to me that he/she/they executed the same in his/her/their signature(s) on the instrument the person(s) acted, executed the instrument.
	I certify under PENALTY OF PERJURY under the laws of the State of California that the foregoing paragraph is true and correct.
BETTY L. TOLENTINO COMM. #2012423 NOTARY PUBLIC-CALIFORNIA S SAN FRANCISCO COUNTY My Comm. Expires Apr. 12, 2017	Signature Signature of Notary Public
Place Notary Seal Above	
Though this section is optional, completing this	PTIONAL s information can deter alteration of the document or is form to an unintended document.
Description of Attached Document	
Title or Type of Document:	Document Date:
Number of Pages: Signer(s) Other Th	an Named Above:
Capacity(ies) Claimed by Signer(s) Signer's Name:	Signer's Name:
	☐ Corporate Officer — Title(s):
Corporate Officer — Title(s):	
□ Corporate Officer — Title(s): □ Partner — □ Limited □ General	□ Farmer — □ Limited □ General
□ Partner — □ Limited □ General □ Individual □ Attorney in Fact	□ Partner — □ Limited □ General□ Individual □ Attorney in Fact
□ Partner — □ Limited □ General□ Individual □ Attorney in Fact□ Trustee □ Guardian or Conservator	☐ Individual☐ Attorney in Fact☐ Guardian or Conservator
□ Partner — □ Limited □ General □ Individual □ Attorney in Fact	☐ Individual ☐ Attorney in Fact ☐ Guardian or Conservator ☐ Other:



POWER OF ATTORNEY

Farmington Casualty Company Fidelity and Guaranty Insurance Company Fidelity and Guaranty Insurance Underwriters, Inc. St. Paul Fire and Marine Insurance Company St. Paul Guardian Insurance Company

St. Paul Mercury Insurance Company Travelers Casualty and Surety Company Travelers Casualty and Surety Company of America United States Fidelity and Guaranty Company

Attorney-In Fact No.

229166

Certificate No. 006882468

KNOW ALL MEN BY THESE PRESENTS: That Farmington Casualty Company, St. Paul Fire and Marine Insurance Company, St. Paul Guardian Insurance Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company. Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company are corporations duly organized under the laws of the State of Connecticut, that Fidelity and Guaranty Insurance Company is a corporation duly organized under the laws of the State of Iowa, and that Fidelity and Guaranty Insurance Underwriters, Inc., is a corporation duly organized under the laws of the State of Wisconsin (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint

Susan Hecker, Maureen O'Connell, Robert Wrixon, Brian F. Cooper, M. Moody, Betty L. Tolentino, Janet C. Rojo, Virginia L. Black, K. Zerounian, and Kevin Re

other writings o	arate capacity if more than one bligatory in the nature thereof	, State of e is named above, to sign, execute on behalf of the Companies in t and undertakings required or per	e, seal and acknowledge any heir business of guaranteei	y and all bonds, recognizances, co ing the fidelity of persons, guarar	lawful Attorney(s)-in-Fact, and itional undertakings and atteeing the performance of
IN WITNESS V		ave caused this instrument to be s	igned and their corporate s	eals to be hereto affixed, this	11th

Farmington Casualty Company Fidelity and Guaranty Insurance Company Fidelity and Guaranty Insurance Underwriters, Inc. St. Paul Fire and Marine Insurance Company St. Paul Guardian Insurance Company

St. Paul Mercury Insurance Company Travelers Casualty and Surety Company Travelers Casualty and Surety Company of America United States Fidelity and Guaranty Company



















State of Connecticut City of Hartford ss.

Robert L. Raney, Senior Vice President

On this the ___11th day of July 2016 , before me personally appeared Robert L. Raney, who acknowledged himself to be the Senior Vice President of Farmington Casualty Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Underwriters, Inc., St. Paul Fire and Marine Insurance Company, St. Paul Guardian Insurance Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company, and that he, as such, being authorized so to do, executed the foregoing instrument for the purposes therein contained by signing on behalf of the corporations by himself as a duly authorized officer.

In Witness Whereof, I hereunto set my hand and official seal. My Commission expires the 30th day of June, 2021.



58440-5-16 Printed in U.S.A.

WARNING: THIS POWER OF ATTORNEY IS INVALID WITHOUT THE RED BORDER

This Power of Attorney is granted under and by the authority of the following resolutions adopted by the Boards of Directors of Farmington Casualty Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Underwriters, Inc., St. Paul Fire and Marine Insurance Company, St. Paul Guardian Insurance Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company, which resolutions are now in full force and effect, reading as follows:

RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President, any Vice President, and Vi President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary may appoint Attorneys-in-Fact and Agents to act for and on behalf of the Company and may give such appointee such authority as his or her certificate of authority may prescribe to sign with the Company's name and seal with the Company's seal bonds, recognizances, contracts of indemnity, and other writings obligatory in the nature of a bond, recognizance, or conditional undertaking, and any of said officers or the Board of Directors at any time may remove any such appointee and revoke the power given him or her; and it is

FURTHER RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President may delegate all or any part of the foregoing authority to one or more officers or employees of this Company, provided that each such delegation is in writing and a copy thereof is filed in the office of the Secretary; and it is

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary and duly attested and sealed with the Company's seal by a Secretary or Assistant Secretary; or (b) duly executed (under seal, if required) by one or more Attorneys-in-Fact and Agents pursuant to the power prescribed in his or her certificate or their certificates of authority or by one or more Company officers pursuant to a written delegation of authority; and it is

FURTHER RESOLVED, that the signature of each of the following officers: President, any Executive Vice President, any Senior Vice President, any Vice President, any Assistant Vice President, any Secretary, any Assistant Secretary, and the seal of the Company may be affixed by facsimile to any Power of Attorney or to any certificate relating thereto appointing Resident Vice Presidents, Resident Assistant Secretaries or Attorneys-in-Fact for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such Power of Attorney or certificate bearing such facsimile signature or facsimile seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimile signature and facsimile seal shall be valid and binding on the Company in the future with respect to any bond or understanding to which it is attached.

I, Kevin E. Hughes, the undersigned, Assistant Secretary, of Farmington Casualty Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Underwriters, Inc., St. Paul Fire and Marine Insurance Company, St. Paul Guardian Insurance Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company do hereby certify that the above and foregoing is a true and correct copy of the Power of Attorney executed by said Companies, which is in full force and effect and has not been revoked.

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed the seals of said Companies this 9th day of ____

20 16

Mar E. Huge



















To verify the authenticity of this Power of Attorney, call 1-800-421-3880 or contact us at www.travelersbond.com. Please refer to the Attorney-In-Fact number, the above-named individuals and the details of the bond to which the power is attached.

Bond No. 106529813 Premium included in charge for performance bond

COUNTY OF MONTEREY

PAYMENT BOND (Civil Code Section 9550)

WHEREAS, the County of Monterey has awarded to Principal, as Contractor, a contract for the following project:

CASTROVILLE BICYCLE/PEDESTRIAN PATH AND RAILROAD CROSSING PROJECT NO. 8622 Federal Aid Project No: RSTPLE-5944(111)

AND WHEREAS, Principal, as Contractor, is required to furnish a bond in connection with said contract, to secure the payment of claims of laborers, mechanics, materialmen, and other persons furnishing labor and materials on the project, as provided by law.

	IOW, THEREFORE, we Viking Construction Company, Inc.					, as Principal,	
and _	Travelers Casualty and Sur	ety Company of A	merica			1 ,	
				as Surety.	, are held	d and firmly	
	d unto the County of Montere						
calle	d "County"), and to the person	ns named in Calif	fornia Civil C	ode sectio	n 9100	in the penal	
sum (of Six Million Five Hundred Nine	Thousand Fifty *	Dollars (\$	6,509	. 050	. 56) for the	
	ent of which sum in lawful m						
ourse	lves, our heirs, executors, adn	ninistrators, succ	essors and as	signs, join	itly and s	severally,	
firml	y by these presents. *and 56/1	00ths					

THE CONDITION OF THIS OBLIGATION IS SUCH THAT:

If the Principal, or any of Principal's heirs, executors, administrators, successors, assigns, or Subcontractors, (1) fails to pay in full all of the persons named in Civil Code Section 9100 with respect to any labor or materials furnished by said persons on the project described above, or (2) fails to pay in full all amounts due under the California Unemployment Insurance Code with respect to work or labor performed on the project described above, or (3) fails to pay for any amounts required to be deducted, withheld, and paid over to the Employment Development Department from the wages of employees of the Principal and Subcontractors pursuant to Unemployment Insurance Code section 13020 with respect to such work and labor, then the Surety shall pay for the same.

Surety hereby stipulates and agrees that no change, extension of time, alteration or addition to the terms of the contract on the call for bids, or to the work to be performed there under, or the specifications accompanying the same, shall in any way affect its obligation under this bond, and it does hereby waive notice of any such change, extension of time, alteration or addition to the terms of said contract or the call for bids, or to the work, or to the specifications.

If suit is brought upon this bond by the County and judgment is recovered, the Surety shall pay all litigation expenses incurred by the County in such suit, including attorney's fees, court costs, expert witness fees and investigation expenses.

This bond inures to the benefit of any of the persons named in Civil Code Section 9100, and such persons or their assigns shall have a right of action in any suit brought upon this bond, subject to any limitations set forth in Civil Code sections 9550 et seq. (Civil Code, Division 4, Part 6, Title 3, Chapter 5: Payment Bond for Public Works).

IN WITNESS WHERE OF the above-bounden parties have executed this instrument under their several seals this 9th day of September, 2016, the name and corporate seal of each corporate party being hereto affixed and these presents duly signed by its undersigned representative, pursuant to authority of its governing body.

(Corporate Seal)	Viking Construction Company, Inc.
	Principal
	By Randy Jenso
	Name and Title Randy Jenco President
(Corporate Seal)	
	Travelers Casualty and Surety Company of America
	Surety
	By
	Name and Title M. Moody, Attorney-in-Fct

(Attach notary acknowledgement for all signatures and original or certified copy of unresolved appointment, attorney-in-fact certificate, power of attorney, by laws, or other instrument entitling or authorizing person executing bond on behalf of Surety to do so.)

A notary public or other officer completing this certificate verifies only the identity of the individual who signed the document to which this certificate is attached, and not the truthfulness. accuracy, or validity of that document.

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

Viking Construction Company, Inc.

State of California County of Sacramento On September 21, 2016, before me, Stacy Duong, Notary Public, personally appeared Randy J. Jenco, who proved to me on the basis of satisfactory evidence to be the person(s) whose name(s) is/are subscribed to the within instrument and acknowledged to me that he/she/they executed the same in his/her/their authorized capacity(ies), and that by his/her/their signature(s) on the instrument the person(s), or the entity upon behalf of which the person(s) acted, executed the instrument. I certify under PENALTY OF PERJURY under the laws of the State of California that the foregoing paragraph is true and correct. WITNESS my hand and official seal. STACY DUONG Сомм. # 2161728 OTARY PUBLIC CALIFORNIA () SACRAMENTO COUNTY MY COMM. EXP. AUG. 28, 2020 (Seal) OPTIONAL INFORMATION The information below is not required by law. However, it could prevent fraudulent attachment of this acknowledgment to an unauthorized document. **CAPACITY CLAIMED BY SIGNER (PRINCIPAL)** ☐ CORPORATE OFFICER: DESCRIPTION OF ATTACHED DOCUMENT **PRESIDENT** Payment Bond TITLE(S) TITLE OR TYPE OF DOCUMENT PARTNER(S) ☐ ATTORNEY-IN-FACT NUMBER OF PAGES TRUSTEE(S) ☐ GUARDIAN/CONSERVATOR DATE OF DOCUMENT OTHER: OTHER SIGNER IS REPRESENTING: NAME OF PERSON(S) OR ENTITY(IES) RIGHT THUMBPRINT OF

> SIGNER (IF REQUIRED)

AND COMPANY OF THE PROPERTY OF

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

CIVIL CODE § 1189

otary Public
ame and Title of the Officer
ner(s)
the person(s) whose name(s) is/are at he/she/they executed the same in ure(s) on the instrument the person(s), a instrument.
NALTY OF PERJURY under the laws alifornia that the foregoing paragraphet.
nd and official seal.
Signature of Notary Public
deter alteration of the document or ended document.
cument Date:
e: Officer — Title(s):
☐ Limited ☐ General
☐ Attornev in Fact
765
☐ Guardian or Conservator
e '



POWER OF ATTORNEY

Farmington Casualty Company
Fidelity and Guaranty Insurance Company
Fidelity and Guaranty Insurance Underwriters, Inc.
St. Paul Fire and Marine Insurance Company
St. Paul Guardian Insurance Company

St. Paul Mercury Insurance Company Travelers Casualty and Surety Company Travelers Casualty and Surety Company of America United States Fidelity and Guaranty Company

Attorney-In Fact No.

229166

Certificate No. 006882469

KNOW ALL MEN BY THESE PRESENTS: That Farmington Casualty Company, St. Paul Fire and Marine Insurance Company, St. Paul Guardian Insurance Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company are corporations duly organized under the laws of the State of Connecticut, that Fidelity and Guaranty Insurance Company is a corporation duly organized under the laws of the State of Iowa, and that Fidelity and Guaranty Insurance Underwriters, Inc., is a corporation duly organized under the laws of the State of Wisconsin (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint

Susan Hecker, Maureen O'Connell, Robert Wrixon, Brian F. Cooper, M. Moody, Betty L. Tolentino, Janet C. Rojo, Virginia L. Black, K. Zerounian, and Kevin Re

of the City ofeach in their separa other writings oblic contracts and exec	ate capacity if mo	ore than one is nam ture thereof on beh	ed above, to sign, alf of the Compar	execute, seal and nies in their busing	acknowledge any a ess of guaranteeing	and all bonds, reco	gnizances, conditions	Attorney(s)-in-Fact, onal undertakings and g the performance of
IN WITNESS WI	HEREOF, the Co	ompanies have caus	sed this instrumen	t to be signed and	their corporate sea	ls to be hereto aff	ixed, this	11th
	941 J	Farmington Casus Fidelity and Guar Fidelity and Guar St. Paul Fire and I St. Paul Guardian	anty Insurance C anty Insurance U Marine Insuranc	Inderwriters, Inc e Company	Tray . Tray	elers Casualty ar elers Casualty ar	urance Company nd Surety Compan nd Surety Compan and Guaranty Co	ny of America
CASUA OPOSITOR 1982 OCI	1977 E	MICHPORTED STATES	TINE G	SEAL S	SEAL S	HARTFORD, CONN.	HARTOFOLD COURT	INCORPORATED SET OF THE PROPERTY OF THE PROPER
State of Connectice City of Hartford ss					Ву:	Robert L. Rane	y, Senior Vice Preside	nt

In Witness Whereof, I hereunto set my hand and official seal.

My Commission expires the 30th day of June, 2021.

_day of __July_



instrument for the purposes therein contained by signing on behalf of the corporations by himself as a duly authorized officer.

Marie C. Tetreault Nover Public

 $\underline{2016}$, before me personally appeared Robert L. Raney, who acknowledged himself to

58440-5-16 Printed in U.S.A.

be the Senior Vice President of Farmington Casualty Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Company, Travelers Casualty and Surety Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company, and that he, as such, being authorized so to do, executed the foregoing

WARNING: THIS POWER OF ATTORNEY IS INVALID WITHOUT THE RED BORDER

This Power of Attorney is granted under and by the authority of the following resolutions adopted by the Boards of Directors of Farmington Casualty Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Underwriters, Inc., St. Paul Fire and Marine Insurance Company, St. Paul Guardian Insurance Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company, which resolutions are now in full force and effect, reading as follows:

RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President, any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary may appoint Attorneys-in-Fact and Agents to act for and on behalf of the Company and may give such appointee such authority as his or her certificate of authority may prescribe to sign with the Company's name and seal with the Company's seal bonds, recognizances, contracts of indemnity, and other writings obligatory in the nature of a bond, recognizance, or conditional undertaking, and any of said officers or the Board of Directors at any time may remove any such appointee and revoke the power given him or her; and it is

FURTHER RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President may delegate all or any part of the foregoing authority to one or more officers or employees of this Company, provided that each such delegation is in writing and a copy thereof is filed in the office of the Secretary; and it is

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary and duly attested and sealed with the Company's seal by a Secretary or Assistant Secretary; or (b) duly executed (under seal, if required) by one or more Attorneys-in-Fact and Agents pursuant to the power prescribed in his or her certificate or their certificates of authority or by one or more Company officers pursuant to a written delegation of authority; and it is

FURTHER RESOLVED, that the signature of each of the following officers: President, any Executive Vice President, any Senior Vice President, any Vice President, any Assistant Vice President, any Secretary, and the seal of the Company may be affixed by facsimile to any Power of Attorney or to any certificate relating thereto appointing Resident Vice Presidents, Resident Assistant Secretaries or Attorneys-in-Fact for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such Power of Attorney or certificate bearing such facsimile signature or facsimile seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimile signature and facsimile seal shall be valid and binding on the Company in the future with respect to any bond or understanding to which it is attached.

I, Kevin E. Hughes, the undersigned, Assistant Secretary, of Farmington Casualty Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company do hereby certify that the above and foregoing is a true and correct copy of the Power of Attorney executed by said Companies, which is in full force and effect and has not been revoked.

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed the seals of said Companies this 9th day of September

Kevin E. Hughes, Assistant Secretary

1982 2 1982 2 1982

















To verify the authenticity of this Power of Attorney, call 1-800-421-3880 or contact us at www.travelersbond.com. Please refer to the Attorney-In-Fact number, the above-named individuals and the details of the bond to which the power is attached.



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 9/30/2016

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

PRODUCER		CONTACT A	Amber Johnson		
Commercial Lines - (916) 589-8000			:	FAX (A/C, No):	
	, Inc CA Lic#: 0D08408	E-MAIL ADDRESS: Amber.Johnson3@wellsfargo.com			
10940 White Rock Road, 2nd floor		INSURER(S) AFFORDING COVERAGE			NAIC#
	Lines - (916) 589-8000 Insurance Services USA, Inc CA Lic#: 0D08408 Rock Road, 2nd floor dova, CA 95670-6076 Insurance Company, Inc. Insurance Services USA, Inc CA Lic#: 0D08408 E-Action Company, Inc. Insurance Services USA, Inc CA Lic#: 0D08408 E-Action Company, Inc. Insurance Services USA, Inc CA Lic#: 0D08408 E-Action Company, Inc Insurance Company, Inc. Insurance Services USA, Inc CA Lic#: 0D08408 E-Action Company, Inc Insurance Company, Insurance Company, Inc Insurance Company, Insurance Company, Insurance Company, In	INSURER A: Travelers Indemnity Co. of Connecticut			25682
Viking Construction Company, Inc.		INSURER B: Zurich American Insurance Co			16535
P.O. Box 1508		INSURER C: National Union Fire Ins. Co. of Pittsburgh, PA			19445
1.0. 80% 1300		INSURER D:			
Rancho Cordova CA 95741		INSURER E :			
	05DT1510 475 4440550 10005005	INSURER F :			
COVERAGES	CERTIFICATE NUMBER: 10935665		DEVISION NUI	MDED, Soo he	low

THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS. EXCLUSIONS AND CONDITIONS OF SUCH POLICIES, LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID OF A MAY.

NSR LTR	TYPE OF INSURANCE	ADDL SUBR INSD WVD		POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMITS		
Α	X COMMERCIAL GENERAL LIABILITY CLAIMS-MADE X OCCUR	X	CO-8052X525-TCT-16	02/01/2016	02/01/2017	EACH OCCURRENCE DAMAGE TO RENTED PREMISES (Ea occurrence)	s s	2,000,000
						MED EXP (Any one person)	S	5,000
						PERSONAL & ADV INJURY	S	2,000,000
	GEN'L AGGREGATE LIMIT APPLIES PER:					GENERAL AGGREGATE	\$	4,000,000
	POLICY X PRO-					PRODUCTS - COMP/OP AGG	S	4,000,000
	OTHER:						S	
В	AUTOMOBILE LIABILITY	X	BAP673876203	02/01/2016	02/01/2017	COMBINED SINGLE LIMIT (Ea accident)	\$	1,000,000
- 1	X ANY AUTO					BODILY INJURY (Per person)	\$	
	OWNED SCHEDULED AUTOS AUTOS					BODILY INJURY (Per accident)	S	
ļ	X HIRED X NON-OWNED AUTOS ONLY					PROPERTY DAMAGE (Per accident)	S	
_							\$	
C	UMBRELLA LIAB X OCCUR		BE016403925	02/01/2016	02/01/2017	EACH OCCURRENCE	S	10,000,000
-	X EXCESS LIAB CLAIMS-MADE					AGGREGATE	\$	10,000,000
_	DED X RETENTIONS 10,000						S	
	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY Y / N		WC0158157-00	10/01/2016	10/01/2017	X PER OTH-		
	ANYPROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED?	N/A				E.L. EACH ACCIDENT	s	1,000,000
	(Mandatory in NH) If yes, describe under					E.L. DISEASE - EA EMPLOYEE	s	1,000,000
	DESCRIPTION OF OPERATIONS below					E.L. DISEASE - POLICY LIMIT	S	1,000,000

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required)

RE: Viking job #161 & Monterey County #8622. Castroville Bicycle/Pedestrian Path & Railroad Crossing. Federal aid project No: RSTPLE-5944(111). The County of Monterey, its officer, agents, and employees are list as additional insured's for General Liability per attached form #CGD2460805 and Auto liability per attached form #UCA424ECW. Primary & Non-Contributory wording applies for general and auto liability per the attached.

C	E	R	T	IF	IC	A'	TE	H	0	LI	DE	R

CANCELLATION

Monterey County Resource Management Agency 168 W. Alisal Street, 2nd Floor Salinas, CA 93901

SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.

AUTHORIZED REPRESENTATIVE

genes Sporton

The ACORD name and logo are registered marks of ACORD © 1988-2015 ACORD CORPORATION. All rights reserved.

POLICY NUMBER: BAP-6738762-03

THIS ENDORSEMENT CHANGES THE POLICY. PLEASE READ IT CAREFULLY.

DESIGNATED INSURED

This endorsement modifies insurance provided under the following:

BUSINESS AUTO COVERAGE FORM GARAGE COVERAGE FORM MOTOR CARRIER COVERAGE FORM TRUCKERS COVERAGE FORM

With respect to coverage provided by this endorsement, the provisions of the Coverage Form apply unless modified by this endorsement.

This endorsement identifies person(s) or organization(s) who are "insureds" under the Who is An insured Provision of the Coverage Form. This endorsement does not after coverage provided in the Coverage Form.

This endorsement changes the policy effective on the inception date of the policy unless another date is indicated

below.	
Endorsement Effective: 02/01/2016	Countersigned By:
Named Insured; Viking Construction Company, Inc.	(Authorized Representative)
	schedule
Name of Person(s) or Organization(s):	
(See below)	

(If no entry appears above, information required to complete this endorsement will be shown in the Declarations as applicable to the endorsement.)

Each person or organization shown in the Schedule is an "insured" for Liability Coverage, but only to the extent that person or organization qualifies as an "insured" under the Who is An insured Provision contained in Section II of the Coverage Form.

Any person or organization to whom or which you are required to provide additional insured status or additional insured status on a primary, non-contributory basis, in a written contract or written agreement executed prior to loss, except where such contract or agreement is prohibited by law

Copyright, Hawaii insurance Bureau, Inc., 1899 includes copyrighted material of the insurance Services Office, Inc., with its permission Copyright, Insurance Services Office, Inc., 1999

CA 1028 (2-99) Page 1 of 1

CA 20 48 02 99



Coverage Extension Endorsement

Policy No.	Eff. Date of Pol.	Exp. Date of Pol.	Eff. Date of End.	Producer No.	Add'l. Prem	Return Prem.
BAP-6738762-03	02/01/2016	02/01/2017	02/01/2016			

THIS ENDORSEMENT CHANGES THE POLICY. PLEASE READ IT CAREFULLY.

This endorsement modifies insurance provided under the:

Business Auto Coverage Form Motor Carrier Coverage Form

A. Amended Who Is An Insured

- The following is added to the Who Is An Insured Provision in Section II Liability Coverage
 The following are also "insureds":
 - a. Any "employee" of yours is an "insured" while using a covered "auto" you don't own, hire or borrow for acts performed within the scope of employment by you.
 - b. Anyone volunteering services to you is an "insured" while using a covered "auto" you don't own, hire or borrow to transport your clients or other persons in activities necessary to your business.
 - c. Anyone else who furnishes an "auto" referenced in Paragraphs a. and b. above.
 - d. Any person(s) or organization(s) where required by written contract or written agreement executed prior to any "accident" provided the "accident" arises out of operations contemplated by such contract or agreement.
- 2. The following Is added to the Other Insurance Provision in the Conditions Section:

Coverage for any person(s) or organization(s) where required by written contract or written agreement executed prior to any "accident" will apply on a primary basis and any insurance maintained by the additional "insured" will apply on an excess basis. However, in no event will this coverage extend beyond the terms and conditions of the coverage form.

B. Amendment - Supplementary Payments

Paragraphs a.(2) and a.(4) of the Coverage Extensions Provision In Section II — Liability Coverage are replaced by the following:

- (2) Up to \$5,000 for the cost of bail bonds (including bonds for related traffic law violations) required because of an "accident" we cover. We do not have to furnish these bonds.
- (4) All reasonable expenses incurred by the "insured" at our request, including actual loss of earnings up to \$500 a day because of time off from work.

C. Fellow Employee Coverage

The Fellow Employee Exclusion contained in Section II - Liability Coverage does not apply.

- D. Driver Safety Program Llability and Physical Damage Coverage
 - 1. The following is added to the Racing Exclusion in Section II Liability Coverage:

This exclusion does not apply to covered "autos" participating in a driver safety program event, such as, but not limited to, auto or truck rodeos and other auto or truck agility demonstrations.

U-CA-424-E CW (04-11) Page 1 of 5

Includes copyrighted material of Insurance Services Office, Inc., with its permission.

 The following is added to Paragraph 2. in the Exclusions of Section III — Physical Damage Coverage of the Business Auto Coverage Form and Paragraph 2.b. in the Exclusions of Section IV — Physical Damage Coverage of the Motor Carrier Coverage Form:

This exclusion does not apply to covered "autos" participating in a driver safety program event, such as, but not limited to, auto or truck rodeos and other auto or truck agility demonstrations.

E. Lease or Loan Gap Coverage

The following is added to the Coverage Provision of the Physical Damage Coverage Section:

Lease Or Loan Gap Coverage

In the event of a total "loss" to a covered "auto", we will pay any unpaid amount due on the lease or loan for a covered "auto", less:

- a. Any amount paid under the Physical Damage Coverage Section of the coverage form; and
- b. Any:
 - (1) Overdue lease or loan payments at the time of the "loss";
 - (2) Financial penalties imposed under a lease for excessive use, abnormal wear and tear or high mileage;
 - (3) Security deposits not returned by the lessor;
 - (4) Costs for extended warranties, credit life insurance, health, accident or disability insurance purchased with the loan or lease; and
 - (5) Carry-over balances from previous leases or loans.

F. Towing and Labor

The following is added to Paragraph A.2. of the Physical Damage Coverage Section:

We will pay up to \$75 for towing and labor costs incurred each time a covered "auto" of the private passenger type is disabled. However, the labor must be performed at the place of disablement.

G. Extended Glass Coverage

The following is added to Paragraph A.3.a. of the Physical Damage Coverage Section:

If glass must be replaced, the deductible will be \$100 or the deductible shown in the Declarations, whichever is less. If glass can be repaired and is actually repaired rather than replaced, the deductible will be waived. You have the option of having the glass repaired rather than replaced.

H. Hired Auto Physical Damage - Increased Loss of Use Expenses

The Loss Of Use Expenses Provision of the Physical Damage Coverage Section is replaced by the following;

Loss Of Use Expenses

For Hired Auto Physical Damage, we will pay expenses for which an 'insured" becomes legally responsible to pay for loss of use of a vehicle rented or hired without a driver under a written rental contract or written rental agreement. We will pay for loss of use expenses if caused by:

- (1) Other than collision only if the Declarations indicate that Comprehensive Coverage is provided for any covered "auto";
- (2) Specified Causes Of Loss only if the Declarations indicate that Specified Causes Of Loss Coverage is provided for any covered "auto"; or
- (3) Collision only if the Dectarations indicate that Collision Coverage is provided for any covered "auto".

However, the most we will pay for any expenses for loss of use is \$100 per day, to a maximum of \$3000.

Personal Effects Coverage

The following is added to the Coverage Provision of the Physical Damage Coverage Section:

Personal Effects Coverage

- a. We will pay up to \$750 for "loss" to personal effects which are:
 - (1) Personal property owned by an "insured"; and

U-CA-424-E CW (04-11) Page 2 of 5

- (2) In or on a covered "auto".
- b. Subject to Paragraph a. above, the amount to be paid for "loss" to personal effects will be based on the lesser of:
 - (1) The reasonable cost to replace; or
 - (2) The actual cash value.
- c. The coverage provided in Paragraphs a. and b. above, only applies in the event of a total theft of a covered "auto". No deductible applies to this coverage. However, we will not pay for "loss" to personal effects of any of the following:
 - Accounts, bills, currency, deeds, evidence of debt, money, notes, securities, or commercial paper or other documents of value.
 - (2) Bullion, gold, silver, platinum, or other precious alloys or metals; furs or fur garments; jewelry, watches, precious or semi-precious stones.
 - (3) Paintings, statuary and other works of art.
 - (4) Contraband or property in the course of illegal transportation or trade.
 - (5) Tapes, records, discs or other similar devices used with audio, visual or data electronic equipment.

Any coverage provided by this Provision is excess over any other insurance coverage available for the same "loss".

J. Tapes, Records and Discs Coverage

- The Exclusion in Paragraph B.4.a. of Section III Physical Damage Coverage in the Business Auto Coverage
 Form and the Exclusion in Paragraph B.2.c. of Section IV Physical Damage Coverage in the Motor Carrier
 Coverage Form do not apply.
- The following is added to Paragraph 1.a. Comprehensive Coverage under the Coverage Provision of the Physical Damage Coverage Section:

We will pay for "loss" to tapes, records, discs or other similar devices used with audio, visual or data electronic equipment. We will pay only if the tapes, records, discs or other similar audio, visual or data electronic devices:

- (a) Are the property of an "insured"; and
- (b) Are in a covered "auto" at the time of "loss".

The most we will pay for such "loss" to tapes, records, discs or other similar devices is \$500. The Physical Damage Coverage Deductible Provision does not apply to such "loss".

K. Airbag Coverage

The Exclusion in Paragraph B.3.a. of Section III — Physical Damage Coverage in the Business Auto Coverage Form and the Exclusion in Paragraph B.4.a. of Section IV — Physical Damage Coverage in the Motor Carrier Coverage Form do not apply to the accidental discharge of an airbag.

L. Two or More Deductibles

The following is added to the Deductible Provision of the Physical Damage Coverage Section:

If an accident is covered both by this policy or coverage form and by another policy or coverage form issued to you by us, the following applies for each covered "auto" on a per vehicle basis:

- 1. If the deductible on this policy or coverage form is the smaller (or smallest) deductible, it will be waived; or
- 2. If the deductible on this policy or coverage form is not the smaller (or smallest) deductible, it will be reduced by the amount of the smaller (or smallest) deductible.

M. Physical Damage - Comprehensive Coverage - Deductible

The following is added to the Deductible Provision of the Physical Damage Coverage Section:

Regardless of the number of covered "autos" damaged or stolen, the maximum deductible that will be applied to Comprehensive Coverage for all "loss" from any one cause is \$5,000.

- N. Temporary Substitute Autos Physical Damage
 - 1. The following is added to Section I Covered Autos:

Temporary Substitute Autos - Physical Damage

If Physical Damage Coverage is provided by this coverage form on your owned covered "autos", the following types of vehicles are also covered "autos" for Physical Damage Coverage:

Any "auto" you do not own when used with the permission of its owner as a temporary substitute for a covered "auto" you do own but is out of service because of its:

- 1. Breakdown;
- 2. Repair;
- 3. Servicing;
- 4, "Loss"; or
- Destruction.
- 2. The following is added to the Coverage Provision of the Physical Damage Coverage Section:

Temporary Substitute Autos - Physical Damage

We will pay the owner for "loss" to the temporary substitute "auto" unless the "loss" results from fraudulent acts or omissions on your part. If we make any payment to the owner, we will obtain the owner's rights against any other party.

The deductible for the temporary substitute "auto" will be the same as the deductible for the covered "auto" it replaces.

O. Amended Duties In The Event Of Accident, Claim, Suit Or Loss

Paragraph a. of the Duties In The Event Of Accident, Claim, Suit Or Loss Condition is replaced by the following:

a. In the event of "accident", claim, "suit" or "loss", you must give us or our authorized representative prompt notice of the "accident", claim, "suit" or "loss". However, these duties only apply when the "accident", claim, "suit" or "loss" is known to you (if you are an individual), a partner (if you are a partnership), a member (if you are a limited liability company) or an executive officer or insurance manager (if you are a corporation). The failure of any agent, servant or employee of the "insured" to notify us of any "accident", claim, "suit" or "loss" shall not invalidate the insurance afforded by this policy.

Include, as soon as practicable:

- (1) How, when and where the "accident" or "loss" occurred and if a claim is made or "suit" is brought, written notice of the claim or "suit" including, but not limited to, the date and details of such claim or "suit";
- (2) The "insured's" name and address; and
- (3) To the extent possible, the names and addresses of any injured persons and witnesses.

If you report an "accident", claim, "suit" or "loss" to another insurer when you should have reported to us, your failure to report to us will not be seen as a violation of these amended duties provided you give us notice as soon as practicable after the fact of the delay becomes known to you.

P. Walver of Transfer Of Rights Of Recovery Against Others To Us

The following is added to the Transfer Of Rights Of Recovery Against Others To Us Condition:

This Condition does not apply to the extent required of you by a written contract, executed prior to any "accident" or "loss", provided that the "accident" or "loss" arises out of operations contemplated by such contract. This waiver only applies to the person or organization designated in the contract.

Q. Employee Hired Autos - Physical Damage

Paragraph b. of the Other Insurance Condition in the Business Auto Coverage Form and Paragraph f. of the Other Insurance — Primary and Excess Insurance Provisions Condition in the Motor Carrier Coverage Form are replaced by the following:

For Hired Auto Physical Damage Coverage, the following are deemed to be covered "autos" you own:

U-CA-424-E CW (04-11) Page 4 of 5

- (1) Any covered "auto" you lease, hire, rent or borrow; and
- (2) Any covered "auto" hired or rented under a written contract or written agreement entered into by an "employee" or elected or appointed official with your permission while being operated within the course and scope of that "employee's" employment by you or that elected or appointed official's duties as respect their obligations to you.

However, any "auto" that is leased, hired, rented or borrowed with a driver is not a covered "auto".

R. Unintentional Failure to Disclose Hazards

The following is added to the Concealment, Misrepresentation Or Fraud Condition:

However, we will not deny coverage under this coverage form if you unintentionally:

- (1) Fall to disclose any hazards existing at the inception date of this coverage form; or
- (2) Make an error, omission, improper description of "autos" or other misstatement of information.

You must notify us as soon as possible after the discovery of any hazards or any other information that was not provided to us prior to the acceptance of this policy.

S. Hired Auto - World Wide Coverage

Paragraph (5)(a) of the Policy Period, Coverage Territory Condition is replaced by the following:

(a) A covered "auto" is leased, hired, rented or borrowed for a period of 60 days or less; and

T. Bodily Injury Redefined

The definition of "bodily injury" in the Definitions Section is replaced by the following:

"Bodily injury" means bodily injury, sickness or disease, sustained by a person including death or mental anguish, resulting from any of these at any time. Mental anguish means any type of mental or emotional Illness or disease.

All other terms and conditions of this policy remain unchanged.

Effective Date: 02/01/2016

Policy Number: CO-8052X525-TCT-16

COMMERCIAL GENERAL LIABILITY

THIS ENDORSEMENT CHANGES THE POLICY. PLEASE READ IT CAREFULLY

BLANKET ADDITIONAL INSURED (CONTRACTORS)

This endorsement modifies insurance provided under the following: COMMERCIAL GENERAL LIABILITY COVERAGE PART

- WHO IS AN INSURED (Section II) is amended to include any person or organization that you agree in a "written contract requiring insurance" to include as an additional insured on this Coverage Part, but:
 - a) Only with respect to liability for "bodily injury", "property damage" or "personal injury"; and
 - b) If, and only to the extent that, the injury or damage is caused by acts or omissions of you or your subcontractor in the performance of "your work" to which the "written contract requiring insurance" applies. The person or organization does not qualify as an additional insured with respect to the independent acts or omissions of such person or organization.
- 2. The insurance provided to the additional insured by this endorsement is limited as follows:
 - a) In the event that the Limits of Insurance of this Coverage Part shown in the Declarations exceed the limits of liability required by the "written contract requiring insurance", the insurance provided to the additional insured shall be limited to the limits of liability required by that "written contract requiring insurance". This endorsement shall not increase the limits of insurance described in Section III – Limits Of Insurance.
 - b) The insurance provided to the additional insured does not apply to "bodily injury", "property damage" or "personal injury" arising out of the rendering of, or failure to render, any professional architectural, engineering or surveying services, including:
 - The preparing, approving, or failing to prepare or approve, maps, shop drawings, opinions, reports, surveys, field orders or change orders, or the preparing, approving, or failing to prepare or approve, drawings and specifications; and
 - ii. Supervisory, inspection, architectural or engineering activities.

- c) The insurance provided to the additional insured does not apply to "bodily injury" or "property damage" caused by "your work" and included in the "products-completed operations hazard" unless the "written contract requiring insurance" specifically requires you to provide such coverage for that additional insured, and then the insurance provided to the additional insured applies only to such "bodily injury" or "property damage" that occurs before the end of the period of time for which the "written contract requiring insurance" requires you to provide such coverage or the end of the policy period, whichever is earlier.
- 3. The insurance provided to the additional insured by this endorsement is excess over any valid and collectible "other insurance", whether primary, excess, contingent or on any other basis, that is available to the additional insured for a loss we cover under this endorsement. However, if the "written contract requiring insurance" specifically requires that this insurance apply on a primary basis or a primary and non-contributory basis, this insurance is primary to "other insurance" available to the additional insured which covers that person or organization as a named insured for such loss, and we will not share with that "other insurance". But the insurance provided to the additional insured by this endorsement still is excess over any valid and collectible "other insurance", whether primary, excess, contingent or on any other basis, that is available to the additional insured when that person or organization is an additional insured under such "other insurance".
- 4. As a condition of coverage provided to the additional insured by this endorsement:
 - a) The additional insured must give us written notice as soon as practicable of an "occurrence" or an offense which may result in a claim. To the extent possible, such notice should include:

COMMERCIAL GENERAL LIABILITY

- How, when and where the "occurrence" or offense took place;
- The names and addresses of any injured persons and witnesses; and
- The nature and location of any injury or damage arising out of the "occurrence" or offense.
- b) If a claim is made or "suit" is brought against the additional insured, the additional insured must;
 - Immediately record the specifics of the claim or "suit" and the date received; and
 - ii. Notify us as soon as practicable.

The additional insured must see to it that we receive written notice of the claim or "suit" as soon as practicable.

- c) The additional insured must immediately send us copies of all legal papers received in connection with the claim or "suit", cooperate with us in the investigation or settlement of the claim or defense against the "suit", and otherwise comply with all policy conditions.
- d) The additional insured must tender the defense and indemnity of any claim or "suit" to

any provider of "other insurance" which would cover the additional insured for a loss we cover under this endorsement. However, this condition does not affect whether the insurance provided to the additional insured by this endorsement is primary to "other insurance" available to the additional insured which covers that person or organization as a named insured as described in paragraph 3. above.

 The following definition is added to SECTION V. – DEFINITIONS:

"Written contract requiring insurance" means that part of any written contract or agreement under which you are required to include a person or organization as an additional insured on this Coverage Part, provided that the "bodily injury" and "property damage" occurs and the "personal injury" is caused by an offense committed:

- After the signing and execution of the contract or agreement by you;
- b. While that part of the contract or agreement is in effect; and
- c. Before the end of the policy period.